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WORD OF THE DAY

VIBRANT

(ADJECTIVE): @Wﬂﬁ): energetic
Synonyms: spirited, virile
Antonyms: dispirited, lethargic
Example Sentence:

The rich merchants are a part of a

vibrant economy.
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ERROR DETECTION BASED ON

LATEST PATTERN



1. US President Joe Biden has (1)/ make it clear that (2)/
his administration are focused (3)/ on putting America
First.(4)
A) All except (1)
B) Both (3) and (4)
C ) Both (2) and (3)
D) Both (2) and (4)Option C
E) No Error Explanation: (2) make=>made ; (3)
are=>is
US President Donald Trump has made it
clear that his administration is focused on

putting America First.
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2. Satya Nadella, CEO of Microsoft, at a function (1)/ in
Bengaluru on Monday shared insights (2)/ on the impact

about artificial intelligence (3)/ and cloud computing can

make. (4)

A) Both (2) and (3)
B) Both (2) and (4)

C) Only (2)
D) Only (3)
E) No Error

Option D

Explanation: (3) about=>that
Satya Nadella, CEO of Microsoft, at a
function in Bengaluru on Monday shared
insights on the impact that artificial

intelligence and cloud computing can make.



3. Corruption in high places (1)/ is a malaise that is (2)/
easily to diagnose but (3)/ difficult in cure. (4)
A) Only (2)
B) Only (3)
C) Both (3) and (4)
D) All except (1)
E) No Error Option C
Explanation: (3) easily=>easy ; (4) in => to
Corruption in high places is a malaise that

is easy to diagnose but difficult to cure.
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4. Every year, India dreams of (1)/ its high

educational institutions (2)/ rising up to world
standards in terms of ranking, (3)/ number of peer-
reviewed publications, and awards for research(d),

A) Only (1) /.
B) Only (2)
C) Only (3)

Option B
Explanation: (2) high=>higher
D) Both (3) and (2) Every year, India dreams of its higher
E) No Error educational institutions rising up to world
standards in terms of ranking, number of
peer-reviewed publications, and awards for

research.
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5. If the enemy is (1)/ allowed in breach the (2)/

perimeter of the castle, (3) the kingdom will sure

fall.(4)

A) Only (1)

B) Only (2)

C) Both (1) and (2)

D) Both (2) and (4)

E) No Error OptionD

Explanation: (2) in=>to ; (4) sure =>surely
If the enemy is allowed to breach the
perimeter of the castle, the kingdom will

surely fall.



6. His capabilities as a (1)/ soldier has been (2)/
generally recognized (3)/by competing
authorities.(4)

A) All except (1)
B) Both (2) and (3)
C) Both (2) and (4)

D) Both (3) and (4) Option C
E) No Error Explanation:(2)=>has=>have;

(3) competing=>competent
His capabilities as a soldier have been
generally recognized by competent

authorities.
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7. Consumption of energy is becoming (1)/ less intensed

and more efficient as people use less energy (2)/ to live
their lives and as energy efficiency technologies become
more (3)/ integrated in homes, businesses and
transportation. (4) 2 \

Option D
A) Only (2) : ; ;
Explanation: (2) intensed=>intense
B) Only (1)

C) Both (2) and (4)gjective for technology, and efficiency is a noun)
D) Both (2) and () onsumption of energy is becoming less intense

(3) efficiency => efficient (efficient is used as an

E) No Error and more efficient as people use less energy to live
their lives and as energy efficient technologies

become more integrated in homes, businesses and
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Direction: In the Questions given below, there are
two statements, each statement consists of a blank.
You have to choose the option which provides the
correct set of words that fits in the blanks in both
the statements appropriately making them

meaningful and grammatically correct.
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8. 1) Even though Jill was a fantastic assistant, she quit her job

because her boss was never satisfied with her
work.
i) When my teacher grades my essays, she

always finds a minor error in my work.
a) Eulogistic
b) Captious

¢) Laudatory ABSWEF: )

FET, The meaning of “captious”
d) Encomiastic 5 i
is “tending to find fault or

e¢) Commendator e
) y raise petty objections”
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9. i) Even though the politician used

answers during the interview, he eventually had to
make direct responses to the questions.

il) The concert hall used a maze to

prevent overcrowding at the main entrance.

a) Ebullient

b) Ardent

¢) Fanatical Answer: e)

d) Fervent The meaning of “dilatory”

is “intended to cause delay”

e) Dilatory
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10. i) After the basketball player committed a

foul, he was Kicked out of the game.

ii) The driver’s disregard for the

speeding laws did not escape the police officer’s notice.
a) Serene

b) Pabulum
¢) Flagrant

d) Submissive

e) Meek Answer: c)
The meaning of “flagrant” is

“obviously offensive/terrible”
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11. i) Because my friend’s outfit was so the

principal sent her home to change into more appropriate

clothes.

i) When my sister won the lottery, she purchased

a sports car.

a) Garish

b) Bashful

¢) Diffident Answer: a)

d) Austere The meaning of “garish” is

. “something that is elaborate,
e) Sluggish =

showy, striking and in bad

taste”
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12. i) A number of buildings around the Parliament

were
still today.
il) The dispute is still five

the negotiations began.

a) Subduing

b) Quenching
¢) Smoldering KPS )
The meaning of
d) Blazed , .
“smoldering” is  “burn

¢) Simmered slowly with smoke but no

flame”



HOME WORK ANSWER

a) Family members of a patients roughed

up / b) employees at Max Hospital / ¢)
accusing them for medical negligence / d)

after he died after surgery. / e¢) No Error.






